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     

               
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                   
                   
                 
               
              
          

Answer Key

function x = input(a, b, c)

if a==0
     error('a cannot be zero');
end

x(1) = (-b+sqrt(b^2-4*a*c)) / 2 / a;
x(2) = (-b-sqrt(b^2-4*a*c)) / 2 / a;

% or as a script:
a = input('a: ');
b = input('b: ');
c = input('c: ');
if a==0
     error('a cannot be zero');
end

x(1) = (-b+sqrt(b^2-4*a*c)) / 2 / a;
x(2) = (-b-sqrt(b^2-4*a*c)) / 2 / a;



  
    

     

                    
                
                
                  
                
               

    

    

 

    



 



      



 



function Area = Around(a, b)

if nargin==0
     error('No Inputs!')
elseif nargin==1
     r = a;
     Area = pi*a^2;
     fprintf('Circle\n')
else
     Area = pi*a*b;
     fprintf('Ellipse\n')
end

Notes:
1) use nargin without any arguments to determine 
number of input arguments.  nargin('Around') will 
tell you how many inputs Around can take at most, 
which for this problem will always return 2

2) You cannot use a or b before checking to make sure 
they even exist - if nargin<2, a and b are not a part 
of the function's workspace and if you try to ask a 
question with them, you will get an error

3) Watch out for formatting issues such as spaces in 
elseif and writing π for pi

4) The command for an error is error and the argument 
is what Matlab tells you is the error

5) The name of the output that Matlab will return to 
the workspace is whatever comes after the word 
function so be sure to use that in your function

6) The disp command does not know formatting codes 
such as \n

7) An if...elseif...else tree needs one and only one 
end for the tree

8) The else part takes no logic



  
    

       

              
       

               


  

 

           

 












 

         

 


   
   
   




 

           

 

                

             
         

 

              
   

 



  
    

     

    

  

  

     

                


             

             

             

                 
                 
               
              
               
                   

 
       
       
       
       
       
        
        

  

  


 

  





  
    

     

               
                  
                 
              
                  
   

   

   

   

   

   



   

      

     

  

   

  

  

   

       

      

    



  
    

       

               
  

     

        

         
    

       

            

   

        

   


